Pegel Friedrichsthal
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Niederschlag [mm/Tag]

Scheitelabfluss: 89,4
Q Ereignisbeginn: 15,1
Ereignisdauer: 364
Abflussbeiwert: 49

max. N-intensitét: 22,6
Vorfeuchte: hoch
Wetterlage: 39

EZG Pegel Friedrichsthal
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unker 35,40
35,4 - 41,6
41,6 - 44,5
44,8 - 43,0
45,0 -51,2
51,2 -54,4
54,4 - 57,6
57,6 -60,3
60,58 - 64,0
64,0 - 67,2
67,2 - 70,4
70,4 - 73,6
73,6 -76,8
76,8 - 80,0
g0,0 - 83,2
53,2 - 86,4
86,4 - 89,6
89,6 - 92,8
92,8 - 96,0
96,0 - 99,2
Uber 99,20

Niederschlagsverteilung

m3/s
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Std.
%

mm/Tg



